1/2 3 b2
LT @0 11 @)
1 4
0 0 1
o L o 0
a,
1
o o !
a,
(4) : o (5)
0 0 0 1
an—l
Lo o 0
a/b
_n—2 1 1
n -1 n -1 n -1
1 _n—2
n-1 n-1
(6)
1
n-1
1 1 _n—2
n -1 n -1 n -1
3
2. (1))(:(_3 _1);(2))(:
2
3 3
by 3
3. X = 1 3
0 4 3
1 0 0
o B B7'cA™" B
s o
0 A 0
1 ¢ ¢ ¢
1 ¢ _
6f(A)= n n ,f(A)lz
1 c
1

11 1 1
1t 1 -1 -1
411 -1 1 -1
1 -1 -1 1
- a
1 -a
1
- a
1
32
1 41
2 18
s (3)X = | =32
1 (3) 41
2 15
41
1 -c (@) -c
1 -C

1

9

20

41

_1

41 |

35

41

- (C)’ +2¢,C,
c) -¢,

-

n

1

-



9. (1) &METK; (2) LA
14, KRBT XHATR o, o, o, B o, = 30, + o, a5 = 20q,.

158 =(101)", B, = %(12 D', = %(1 1o

16. o, = 2 -45)"

s
o=
18. A =30, R(A) =2; 241 #3 0, R(A) = 3.

19. (D(a, B) = 3, (B, 7) ==5, (@, ) =0;

1 T
2) —(121)7%
”ﬁ( )

1
3 = arccos .
(3){a, B) 3 iz



